('27) mann 7"7 "o X7 naw .7"'02

If it is wide six 0 19w, he is 7w L s

OVERVIEW

mooin will explain the reason »aR maintains that 2"77% "7 DM PA7 is
Mo, 1s because the N2 has the dimensions of a °"117, and therefore when it
lands (in the 2";7), it is considered as if it lands in a '>";17. The presumption
is then, that even though the place upon which it lands becomes a "7
simultaneously with the act of landing, nevertheless we consider that it
landed in an established >"777. Our Md01N examines this premise.

mooIn explains the reason he is Mo if he threw a " M2x1 " 277 PN into a V"7 is -
= NNV TINYN MY HIYUYI NNNY HINIAY
For the nam> itself becomes a >'';1% when it lands
— 91097 D290 MY 797 NN NMHIYAIY TINN MYIN PRI MM
And it is considered as if he threw the N> from a 2" to a *'";77 by the
way of a *2""71m, in which case the "7 is that he is "B -
— VOVUMN PIN G99 RDT (x,797) IIYD 9INTD
As previously said, for we do not derive 1"71 777 °"77% "7 Pt from
7"777 777 0" 0" WA (he is 271 by ©wIn but not by p).

Moo responds to an anticipated question:
— NYT NNNIVY 315 NVIYP IINT N2YPY 295 1929N)
And even according to ¥"2 who maintains the principle of > mwYHp

N 2T An12, which may lend one to think that he should be 2711, since when he threw it
into the 1"70, even before it actually landed and became a °"77, it was v2p1 in the K
1"7, and would be considered according to ¥", that it is 1"772 77117, nevertheless —

— AN MY 2PYUN HNMN RINY DIPN DT 909 XON
Here (as opposed to 1"771 777 °"77% *"'79n P71) even ¥ would agree5 that he
is 7o for in which ever place that you will consider it at rest, that place is

' One of the advantages of this interpretation (as opposed to s""w" interpretation) may be that it explains
why 2R said 1"77% 71 (as opposed to 1"'7172 [R"7] 7). See 121 X"y ,2"min for other advantages over *"wA.
* The place where he threw it from was a *";7.

? The place where the N3 lands is a >"717; as defined by the size of the nan>.

* The air in which it traveled after it left the *"71 and before it landed is a 1"77. See “Thinking it over’ # 2.

> Since K did not say that by N3 P71 then 1327 ¥ NpY>Mn? 1K1 or something similar, it seems that his 77
is valid ¥"15%. See ‘Thinking it over’ # 1.
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considered a °''719, because the n°M3, which is a >"717, is at rest there. Therefore he
will not be 211 even according to ¥"".

mooINn analyzes the ruling of *2ax:
— NN MY AYPIY NN AN IYIND NIIWNT AN 199 NUIVT YNRWUN RHYN
It seems now that it is obvious to *°aRX that it is considered as if the N>

landed after it became a 3''719; otherwise if it becomes a >"71 only after it lands,
then at the moment of landing (if) it is not a *"777, he should be 217!

mooIn now asks:
— 13N 29 Y2 (3,08 WP PN P92
However in 277177 299 we find that Jam71° '3 queries:
— D297 MY NN D 115U NI XOTIN 131919 9P 7V 1A
A pit which is nine 2150 deep and he dug out from the pit an additional
spade full of earth, which completed the pit to a depth of ten 2’15 to make
it into a *"777, and he placed the spade full of earth in the 2'';19, do we say that
— NDIN 2201 SNINP 277N 271N NYNN NIWUY NON NYPY
The 77°py of the object to be carried out (the spade full of earth), and the
making of the partition (to confer upon the pit the status of a °"77) they are
simultaneous, and therefore he is 2931, because since we consider these two
acts as being simultaneous, therefore at the moment of 77°py (of the earth)

the pit was at that moment a >"'777; or perhaps he is not 21, because when he
made the 77°pY we do not as of yet consider the pit to be a >"717. The pit attains the status
of a °"717, only after the 77°PY was completed (and the pit is then ten 2°1ov deep) so that at
the time of the 77°py the 712 was not a *"7".

7111 "1 there continues with an additional query:

— 29110 RKY NPV 7 NHNNM 57 KT 1999 91219 X¥NH ON)
And even if you see fit to say in the previous query, that since originally at
the point of the 717°pY, there was no partition of ten o°rov, therefore he is

not 21, as in the second option mentioned previously — I still have another query,
namely —

— 9 NYINN ‘,733’03 NON HNIN NN VYN NN 1IN MM
A pit that was ten 2°150 deep (which makes it a °"777), and he placed into
the pit a spade full of earth from the 7"717, and thereby diminished the size
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of the partition to less than ten 2°15v, (which nullifies its status as a ¥"717),
what is the ruling in such a case? Do we say that the placing of the article
in the pit and the removal of the partition etc, are simultaneous and therefore
he is %21 or not.

— ANYNN HVANT NYSNNA DD NVIVIYT AN )9 ON)
And if this is indeed so’, then according to »aR, who maintains with

certainty in the case of a rug, that it nullifies the partition -
= 9109 1PINY NISNN I1DINT 1P /N AN 72 PIiNY 02390 MY 912 ONN 9INPT

for the X n) says there; if there is a pit in a 9"'7719 which is deep ten 2’1oV
and wide eight o°1ov (by four 2°r5v) and he threw a rug into this pit, and
the rug landed in a manner that divided the pit vertically into two equal
parts each one slightly less than four o°nov wide, he is 9B, even though before
the rug landed in the pit, the pit was a proper >"717, nevertheless he is 7v» -

— 741 ANY9 NN RY NOVAYT DIUN
Because now — at the moment of landing — the pit is not wide four o’nov,

since the rug divided the pit vertically into two equal parts, in which neither are '7 2mn.
Then it follows that according to **aX that -

— NYPNN NPYYL NVOT )OIV UI)
He is certainly "2 when he simultaneously makes a 7%°m%, as in the first
query of 1" " -

— 325513 XY NYPIWD NYVY NYNM XNN KT 11T DIVUN

For since there was no 113°1» of ten 0°1dv originally He will not be 237!
— NYPOUN NHNM KMN RYT 113 NAYO NI ¥2190Y 1Y $1 XN )2 ON)
and if so (that a mw" that is being created in a simultaneous action is
certainly not a M), then here in the case of n7112 he should be 2917 for

% Even if we maintain in the previous query that although the two acts are simultaneous, it is not sufficient
cause to make him 2, that is because there at the point immediately preceding the 77°py, there was no
°"717, here however at the point immediately preceding the 7177 the pit did have the status of a *"77.

7 That there is less reason for simultaneity to be a cause for 21n, when originally there was no 7¥’m», as
opposed to a case where originally there was a 71¥°mn, as demonstrated by the 17 Xxnn oX.

8 From the two queries of 331> ", within which the %"nX is inserted, we see that there is less reason to
consider something a valid M7, in the case of simultaneity, if prior to the act there was no n", and the
act must create a N1 simultaneously, as opposed to where it was previously a N1, and the act is designed
to remove the MW" simultaneously. In the latter case there is more reason to maintain that the mwA is valid.
Nonetheless since we see that »2xX maintains in the case of n¥nn, where there was a N originally (similar
to the second query of 1M1 "), nevertheless since the mwA was nullified simultaneously (with the nm7)
there is no mwn, then certainly »ax will maintain in the first case of 7111 "1, where we wish to create a N
simultaneously, that it cannot be done.
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this same reason since there was no %2 originally; prior to the landing of
the n112, the space in which it landed was a °"717 -

— 2N 029D MY NI *ID

Therefore the N> landed in a 2"'77% and he should be 27, since we cannot
create a MW" simultaneously with a 7117, as explained previously.

ND0IN answers:

— 11D 91N2 XNN 90 NNIN KD NPY RD 2PUN RIT DIVN MANT NRYLT 99D U
And one can say that the reason of »2R, in the case of the rug being
thrown into the pit, is not (merely) because that a 7¥°m» which is created or
destroyed simultaneously with either a 7im17 or an 77°PY is not a 7AX°1n, but
rather because he does not consider neither an 79%PY nor a nm7 to be

valid if it is simultaneous with creating or destroying a “me°mn, therefore by the case
of the rug he is M1, not (so much) because there is no proper MwA, but rather because
there is no proper 1137 since the 7117 is destroying the 7 mn -

—INNP STTN STTNA NYINM NIWUY NNINT 11D NNIN NIPWN ND 1) NONY
And here too, by 172 it is not considered a valid 717357 since the 711377 and
the forming of the 73> are simultaneous.

mooIn anticipates the following question: Now that we say (according to »aX), that the
problem lies with the 7n3m 771°py that are simultaneous with mx°nn P12°01 N»wy, and not
(so much) with whether one can create or destroy a 7¥°nn simultaneously with 77py
711, we need to understand -

— MYINN PIYIDAN MYNN NHIYWYA 29V 1IN 229D 1YY RVIYAT NN
Why is %531 ' more sure that creating a 7xom» simultaneously with
MM 7Py is more difficult than destroying a 71297, in the same manner.'!

Mo0IN answers:

? Perhaps one can say that an 3 7Py is defined as taking place from or into a valid M, otherwise if a
mwA is either being created or dismantled, there was no 773 77°PY in a MWA. (See 72MT TIXR.)

"2 If X720 '010 in explaining »aX is correct, why should 137 ' disagree with it and vice versa. Also from the
X°210 in P it seems that *"2X is continuing in the same vein as 771" ",

'""If we are to assume the idea of »ax, that the difficulty is not with creating or destroying the 7¥°mn, but
rather with having a proper 7rm 77°pY by itself without being involved in creating or dismantling n1¥nn,
so what difference is there in the first query of 71" ', where he is creating a 7%¥nn (by an 77°pY) to the
second query of 1111 ", where he is dismantling a 7% rn (by a 7m37), since in either case there is no proper
77IM 7Py, since simultaneously he is creating or dismantling a 7%°mn? (See 2717 WY).
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- NY NN YAN NAIYN NNNY 13092 NPY NnYr1T
for perhaps” only by an 795p¥ are we concerned that it should not create or
destroy a 71X, because we require that an 77°py be proper, therefore it
must be from a valid pre-established N9, not into a simultaneously created

mwn, however by 117 (perhaps) we do not require that it be so proper, therefore
it would not matter if during the 7m17 a 7¥°17 is created or destroyed.

SUMMARY

»aX maintains that in order to be valid, an 773M 77°PY must take place in a
proper M1 where there is no changing of the status of the mwA at the
moment of 71T 7PV,

11m1° "1 questions whether this is true in all instances, or perhaps it is true only
by 77°pY, that only 77°pY requires that there be a valid mwA preceding the act,
but not necessarily by ari.

THINKING IT OVER

1. How should we characterize the concept of R A) if it is captured in
the airspace that is sufficient to be considered as if it landed in that domain,
and an actual landing is unnecessary, or B) if it is captured in the airspace of
a domain it is considered as if it actually landed in that domain?"*

2. What would the ruling be by a (" 2m™ ™ 7m23) n Mo, if he was vwn the
nm> from one place to another in the 7";77?"

3. If the n7M> was less than ten 2°19Y, he should still be Mwd for it should be
considered as if he threw it from a "1 into a o321

"2 The reason why 737 "1 felt that even if in the first query (where he created a 7¥°n» through the 77°p¥) he
is not 2’17, nevertheless maybe in the second query (where he dismantled the 7¥°n through a 7137), he may
be 211, is not because creating a 7¥°1» is more difficult than dismantling it, for as stated above the difficulty
is not with the mx°mn, but rather with the 1m1m 77°PY, that they should not be involved with either creating
or destroying mx°rn. The difference between the first query of 711 " and the second is because in the first
query the creating of the 7¥°nn is done through an 777, whilst in the second query the dismantling of the
%' is done through a 7727, as N19OIN concludes.

" See footnote # 5.

" See mama M.

1% See (footnote # 2 and) ([2302] Xnyva [3M 7"72) 70 WK and 15 MK HR™MK AR,

' See (™ax Inx "3 71"72) X"¥1 and 9127 NW.
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